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V  EVRRERBR
(1) Z3llERK

(BATTEE)

(

mL)

E & =

Anabaena  spp.

Microcystis spp.

Phormidium spp.

B & %

18

28

48

28

18

96

84

46

338

Achnanthes spp.

Amphora spp.

Asterionella spp.

Aulacoseria spp.

Cocconeis spp.

14

Cyclotella spp.

Cymatopleura spp.

Cymbella spp.

Diatoma spp.

Diploneis spp.

Fragilaria spp.

Gomphonema  spp.

N oIN Ao

Gyrosigma spp.

Melosira spp.

Navicula spp.

46

16

28

10

212

Nitzschia acicularis

Nitzschia spp.

Pinnularia spp.

16

Rhoicosphenia spp.

10

Rhopalodia spp.

Surirella spp.

Synedra acus

Synedra ulna

Synedra  spp.

I S

Ankistrodesmus spp.

Chlamydomonas spp.

Cosmarium spp.

Oocystis spp.

Othersw

Scenedesmus  spp.

Spondylosium spp.

Sphaerocystis spp.

Staurastrum spp.

Tetraspora spp.

Pediastrum spp.

9\ 7 EE

| Cryptomonas spp.

A—JLF+EE

| Fuglena spp.

El A N

Dinobryon spp.

Uroglena spp.

fii £ =&

Z Dt (Frenzel ina)

126

84

32

48

28

120

24

98

84

48

350

188

(2) ZilTERX

(

(BATTEE)

/10mL)

o

Anabaena  spp.

Oscillatoria spp.

B & =

Asterionella spp.

Cocconeis spp.

Cyclotella spp.

Cymbella spp.

Diatoma spp.

Fragilaria spp.

Gomphonema  spp.

Melosira spp.

Navicula spp.

Nitzschia acicularis

Pinnularia spp.

Rhoicosphenia spp.

Surirella spp.

S S

| Sphaerocystis spp.

)T EE

| Cryptomonas spp.

[Ty
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